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Fourth Semester B.Com. Examination, May 2011
(Semester Scheme)

Commerce
4.6 : COST ACCOUNTING

Time : 3 Hours _ Max. Marks : 90
Instruction : Answer should be written completely either in Kannada or
English.
SECTION - A
1. Answer any ten of the following. Each question carries two marks : (10x2=20)

a) What do you mean by Cost Control ?

b) Write any four examples of selling and distribution overhead.

¢) What are semi fixed/variable costs ? Give example.

d) What are direct materials ? Mention example.

e) What is danger level of materials ?

f) Under what circumstance of price do you prefer the use of LIFO method ?
g) What is idle time ? Mention two reasons.

h) What are notional costs ? State the object of considering it in costing.

i) What are service departments ? Giye two examples.

j) What do you mean by ABC analysis ? Mention its objective

k) State the basis of apportionment of the following :
i) Labour welfare expenses ii) Motive power
iii) Insurance of plant iv) Indirect wages

I) Calculate wages under Halsey plan (50%) : Wage rate per hour Rs. 40;
Standard time 110 hours; Time taken 80 hours.

P.T.O.
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SECTION - B

Answer any five of the following. Each question carries five marks. (5%5=25)

2. Distinguish between Centralised and Decentralised systems of purchasing.

3. What do you mean by Labour Turnover ? Mention the methods of calculating

labour turnover.
4. What do you mean by overhead absorption ? Discuss the methods briefly.

5. State the causes for the difference in profits as per cost accounts and financial

accounts.
6. The costing data of Zen Ltd., show the following :
Materials used Rs. 14,00,000
Direct wages Rs. 10,880,000
Factory overhead Rs. 3,24,000
Establishment and General Expenses Rs. 2,24,320

Prepare a statement showing,
i) Factory cost
i) Total cost
iii) Percentage of factory overhead that bears to the direct wages

iv) Percentage of Establishment and General Expenses is related to factory cost.
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7. From the following data furnished by a company, calculate the ordering level,

minimum level and maximum level of stock.

ROQ 900 units; Consumption per week — Minimum 15 units
Normal 25 units
Maximum 35 units.

Lead time varies from 20 to 30 weeks.

8. From the following data relating to a machine, calculate machine hour rate.
Purchase cost of the machine Rs. 2,00,000
Scrap value after 10 years of life Rs. 20,000
Yearly working hours 2,000
Charge 50% of depreciation as repairs
Power cost 5 units of power per hour @ Rs. 5 per unit
Oil Expenses @ Rs. 20 per day of 8 hours
Consumable stores @ Rs. 100 per day of 8 hours.

9. Distribute the Service Department expenses to Production Department using
simultaneous equation method.

Production depts. Service depts.
A B C X Y
Total departmental
overheads . Rs. 15,100 14,400 19,300 9,250 3,150
Distribution of service
department expenses : X  20% 30%  40% - 10%

Y 40% 20% 30% 10% - -
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SECTION - C
Answer any three of the following. Each question carries fifteen marks.  (3x15=45)

10. X Company Ltd., maintains both cost accounting and financial accounting. The
costing system has revealed profit for the year ending 315 Mar. 2011, a sum of
Rs. 1,15,200. However, the financial accounting result different from this figure.

A verification revealed the following information.

a) Over absorption of factory overhead in cost accounting Rs. 2,200
b) Provision for doubtful debts Rs. 1,600

¢) Preliminary expenses written off Rs. 24,400

d) Transfer fees received Rs. 3,400

e) Underwriting commission paid Rs. 10,000

f) Discount on issue of shares Rs. 12,400

g) Dividend received Rs. 14,600

h) Under recovery of depreciation in cost accounting Rs. 1,600

i) Undervaluation of closing stock in financial accounting Rs. 2,400
j) Notional interest recorded in cost accounting Rs. 2,600

k) S&D overhead over recovered in cost accounting Rs. 15,000

) Rent received not accounted in cost accounts Rs. 8,000

m) Bank interest credited in financial accounts Rs. 2,500

Prepare a reconciliation statement as on 315! Mar. 2011 to show profits as per

financial accounts.
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11. Prepare from the following data a stores ledger account in a proper format using

FIFO method of pricing the material issues.

15t Nov. 2010 Opening stock 400 units @ Rs. 8 per unit

S[h 1] "

8[]-1 " "

10[}1 " "

12[}1 "o "

15t_h " "

16t "

19[]’1 " "

215t " n

24[[1 " "

27th " "

28th " "

On 30t Nov.

Received 800 units @ Rs. 7.80 per unit

Issued to production dept 480 units

Issued to production dept. 320 units

Received 1,000 units @ Rs. 7.70 per unit

Issued to production dept. 800 units

" Received 500 units @ Rs. 7.50 per unit

Received 1200 units @ Rs. 7 per unit

Issued to production dept. 700 units

Issued to production dept. 520 units

Issued to production dept. 680 units

Refund of surplus from work order 50 units from issues of 10% Nov.

2010, the stock verification report revealed a shortage of 20 units.
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12. From the following particulars, calculate the Earnings of a worker under

13.

1) Straight price rate

i) Differential price rate
i) Halsey Bonus plan (50% sharing) and

iv) Rowan premium scheme

Weekly working hrs.

Piece rate per piece

Hourly rate of wages

Normal time taken per price

Normal output per week

Actual output of the worker per week

Differential price rate

40

Rs. 6

Rs. 15

20 minutes
120 pieces
150 pieces

a) 80% of price rate for output
below normal output

b) 120% of price rate for output
above normal output

The following data is furnished by a company for the year 2010.

Stock of materials on 1-1-2010

Stock of materials on 31-12-2010
Purchases of materials

Factory wages

Factory expenses

Administration Expenses

Op. stock of finished goods on 1-1-2010
CL. stock of finished goods on 31-12-2010
Sales |

Production during 2010 was 4000 units

Rs. 70,000
Rs. 10,000
Rs. 1,00,000
Rs. 2,00,000
Rs. 36,000
Rs. 44,000
Nil

Rs. 40,000
Rs. 5,00,000
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The company wants to quote for a contract for the supply of 1000 units during

the year 2011. During 2011 the cost of materials is going to increase by 15% and

that of factory wages by 10%. Prepare a statement of cost for the year 2010 and

a tender statement for 2011 showing the price to be quoted per unit, if the same

% age of profit is maintained as in the previous year. Assume the overhead

charges per unit will be the same as in 2010.

Zenith Co. Ltd., has 2 Production and 2 Service departments. The following

data relate to the year ending 31-3-2011.

Direct wages
Indirect wages
Indirect materials
Sundry supplies
Supervisor’s salary

General expenses

O/Hs. to be apportioned :

Power

Rent

Heating & lighting
Insurance (general)
Taxes

Depreciation

Total

(Rs.)

28,000
14,650
5,000
1,750
4,000

10,000

8,000
12,000
6,000
1,000
2,000

60,000

Production depts.

X
10,000
4,000
1,800
400

2,000

Y
8,000
3,000

700
1,000

2,000

P
6,000
2,000
1,000

150

6,000

Service depts.

Q
4,000
5,650
1,500

200

4,000
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The further details were as follows :

X Y P Q
Floor space (sq. ft.) 2000 800 400 1600
Radiator section 45 90 30 60
No. of Employees 20 10 , S5
Investment (Rs.) 6,40,000 2,00,000 10,000 1,50,000
HP of machines 3500 500 - 1000

Expenses of service dept. P is apportioned on the basis of no. of Employees

and that of service dept. Q in the ratio of 5:2: 3 to X, Y & P depts.
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